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A 1.1 Identifying Inequalities
Choose the correct inequality that best describes each graph.

| | [ ] | l ] | | | | | 1 | | | | | | | ] | | |
< | I 1 I | 1 I | | | | I 1 | | | | # 1 I | | 1 | |
54 36 -18 0 18 36 54 12-10 8 6 -4 2 0 2 4 6 8& 10 12
a) g=22 b) §>2 a) x+826 b) x+8<6
c) %{9 d) %59 ¢ x+8>6 d x+6<8
1 A e e e e e 2
24 20-16-12 8 4 0 4 8 12 16 20 24 30 20 -10 0 10 20 30
a) 2x>24 b) 2x<24
a) x<10 b) x=10
) 2x=z=24 dl 2x<24 d x<10 d) x>10
> || €t
30 -25-20-15-10 -5 0 5 10 15 20 25 30 2 0 2 4 6 8 101217416 18 20 22
a) x-525 b) x-5<5 a) x>8 b) x=8
c) x-5<5 d) x-5>5 c) x<8 d x<8
——t—t—t—t—t——+——1 ———t——
54 36  -18 0 18 36 54 12-10 8 6 4 -2 0 2 4 6 8 10 12
a) x<9 b) x>9 a x<-=2 b) x=-2
) x=9 d x<9 c) x=-2 d x>-2
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A 1.2 Identifying Inequalities
Choose the correct inequality that best describes each graph.

4 | e
66 -55 44 33 22 -11 0 11 22 33 44 55 66 6 -5 4 3 2 -1 0 1 2 3 4 5 6
a) x-1=10 b) x-1<10 al 10x>30 b) 10x<30
d x-1<10 d x-1>10 c 10x=z30 d) 10xs<30
> || ¢+——+—+—+—+—+—+—+—+ ||
9 8 7 6 5 4 -3 2 -1 0 1 2 3 14 7 0 7 14 21 28
a) B+x<2 b) 8+x22 a) %::? b) %a?
¢ 8+x<2 d 8+x>2 ) %5? d) %:}?
A I . ————————————
-8-15-12 9 6 -3 0 3 6 9 12 15 18 30 -25-20-15-10 -5 0 5 10 15 20 25 30
a) 2x<18 b) 2x<18 a) x-6>9 b) x-6=9
c) 2x=18 d 2x>18 ¢ x-6<9 d x-6<9
e T )
] | | 1 | | ] | | 1 | |
24 -21-18-15-12 9 6 -3 0 3 6 9 12 -1|5 -iIE} I5 [I} é 1|n i|5 2::} 2|5 3|u 35 40 45
X X
a x+15=3 b) x+15<3 a) 725 b) FES
0 Xz5 d 2<5
c) x+15<3 d x+15>3 7 = 7
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A 1.3 Identifying Inequalities
Choose the correct inequality that best describes each graph.
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a) x-7<5 b) x-7=25 a) 3x<21 b) 3x>21

) x-7>5 d x-7<5 ¢ 3Ix=21 d 3x=21
> ———— >
! o w0 0 W 20 2 6 54 32101 2 3 45 6

a) F<4 b) 24 a) 3+x>1 b) 3+x<1
A %X>4 d §s4 d 3+xz1 d 3+xs1
Attt R S S S e B S S e
2 0 2 4 6 8 10121416 18 202 18-15-12 9 6 3 0 3 6 9 12 15 18
a) x-2<8 b) x-2>8 a) 5x=30 b) 5x>30
) x-228 d x-2<8 o 5x<30 d) 5x<30
I
1 1+ ——t—t—t——>
24 16 8 0 8 16 24 9 6 3 0 3 6 9
X X
a) g>2 b) g=<2 a) x+1229 b) x+12<9
X y) X
A g2 d) g<2 c) x+12<9 d x+12>9
I
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Answers

Identifying Inequalities

All

l.c b.cC
2.0 6. C
3.d 7. Q
4. b 8.b
Al2

l.a b.cC
2.b 6.d
3.d 7.b
4.c 8. a
A1l13

l.c 5.d
2.b 6. b
3.b 7.d
4.c 8. a
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